
Lecture 5b

Part B

Binary Search Trees -
Implementing a Generic BST in Java
Tree Construction and Traversal



Generic, Binary Tree Nodes
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Generic, Binary Tree Nodes - Traversal
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Tracing: Constructing and Traversing a BST
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Part C

Binary Search Trees -
Implementing a Generic BST in Java
Searching



BST Operation: Searching a Key
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Tracing: Searching through a BST
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Running Time: Search on a BST correct: 0th) i
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Binary Search: Non-Linear vs. Linear Structures
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Binary Search Trees -
Implementing a Generic BST in Java
Insertion



Visualizing BST Operation: Insertion
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Binary Search Trees -
Implementing a Generic BST in Java
Deletion



Visualizing BST Operation: Deletion
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Visualizing BST Operation: Deletion
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Examples on Recursion
Merge Sort



Merge Sort: Ideas
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Merge Sort in Java
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Merge Sort: Tracing
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